
STN BRG S.D. (m) Slope% Slope 
Deg

H.D. (m) D.E. (m) Elev. (m)

Stn A = 0 + 000 = P.O.C. 100

STN BRG S.D. (m) Slope% Slope 
Deg

H.D. (m) D.E. (m) Elev. (m)

185 50.0 +25 +14

Stn A = 0 + 000 = P.O.C. 100

STN BRG S.D. (m) Slope% Slope 
Deg

H.D. (m) D.E. (m) Elev. (m)

185 50.0 +25 +14 48.5 +12.1

Stn A = 0 + 000 = P.O.C. 100

STN BRG S.D. (m) Slope% Slope 
Deg

H.D. (m) D.E. (m) Elev. (m)

Stn B = 0 + 48.5 112.1

185 50.0 +25 +14 48.5 +12.1

Stn A = 0 + 000 = P.O.C. 100

STN BRG S.D. (m) Slope% Slope 
Deg

H.D. (m) D.E. (m) Elev. (m)

043 32.6 -20 11

Stn B = 0 + 48.5 112.1

185 50.0 +25 +14 48.5 +12.1

Stn A = 0 + 000 = P.O.C. 100

STN BRG S.D. (m) Slope% Slope 
Deg

H.D. (m) D.E. (m) Elev. (m)

043 32.6 -20 11 32.0 -6.4

Stn B = 0 + 48.5 112.1

185 50.0 +25 +14 48.5 +12.1

Stn A = 0 + 000 = P.O.C. 100

STN BRG S.D. (m) Slope% Slope 
Deg

H.D. (m) D.E. (m) Elev. (m)

Stn C = 0 + 80.5 Road C/L (5m wide Gravel rd) 105.7

043 32.6 -20 11 32.0 -6.4

Stn B = 0 + 48.5 112.1

185 50.0 +25 +14 48.5 +12.1

Stn A = 0 + 000 = P.O.C. 100

STN BRG S.D. (m) Slope% Slope 
Deg

H.D. (m) D.E. (m) Elev. (m)

056 45.2 -04 02

Stn C = 0 + 80.5 Road C/L (5m wide Gravel rd) 105.7

043 32.6 -20 11 32.0 -6.4

Stn B = 0 + 48.5 112.1

185 50.0 +25 +14 48.5 +12.1

Stn A = 0 + 000 = P.O.C. 100

STN BRG S.D. (m) Slope% Slope 
Deg

H.D. (m) D.E. (m) Elev. (m)

056 45.2 -04 02 45.2 -1.8

Stn C = 0 + 80.5 Road C/L (5m wide Gravel rd) 105.7

043 32.6 -20 11 32.0 -6.4

Stn B = 0 + 48.5 112.1

185 50.0 +25 +14 48.5 +12.1

Stn A = 0 + 000 = P.O.C. 100

STN BRG S.D. (m) Slope% Slope 
Deg

H.D. (m) D.E. (m) Elev. (m)

Stn D = 0 125.7 103.9

056 45.2 -04 02 45.2 -1.8

Stn C = 0 + 80.5  = Road C/L (5m wide Gravel rd) 105.7

043 32.6 -20 11 32.0 -6.4

Stn B = 0 + 48.5 112.1

185 50.0 +25 +14 48.5 +12.1

Stn A = 0 + 000 = P.O.C. 100

Traverse Notes

• Start from bottom

• Zigzag up


